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PAPER-I

CRIMINOLOGY
Signature and Name of Invigilator
1. (Signature) OMR Sheet NO. : .o,
(Name) (To be filled by the Candidate)
2. (Signature) Roll No.
(Name) (In figures as per admission card)
Roll No.

Bl 6 G HE

Time : 1Y/, hours]

(In words)

[Maximum Marks : 100

Number of Pages in this Booklet : 12

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of | 1.
this page. 2.

2. This paper consists of fifty multiple-choice type of | 3.
questions.

3. Atthe commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(i) To have access to the Question Booklet, tear off the

paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an
open booklet.

(if) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the
Question Booklet will be replaced nor any extra
time will be given.

(iii) After this verification is over, the OMR Sheet Number | ,
should be entered on this Test Booklet. '

4. Each item has four alternative responses marked (A), (B),
(C) and (D). You have to darken the circle as indicated below
on the correct response against each item.

Example :

where (C) is the correct response. 5.

5. Your responses to the items are to be indicated in the OMR
Sheet given inside the Paper | Booklet only. If you mark
atany place other than in the circle in the OMR Sheet, it will

not be evaluated. 6.
6. Read instructions given inside carefully. 7.
7. Rough Work is to be done in the end of this booklet. 3.
8. If you write your Name, Roll Number, Phone Number or

put any mark on any part of the OMR Sheet, except for the
space allotted for the relevant entries, which may disclose
your identity, or use abusive language or employ any other
unfair means, you will render yourself liable to
disqualification.

9. You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry
duplicate copy of OMR Sheet on conclusion of examination. | 10.
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CRIMINOLOGY

questions are compulsory.

In Ramamurthy vs. State of
Karnataka the Supreme Court of
India has given direction for.

(A) Juvenile justice reforms

(B) Prison reforms

(C) Judicial reforms

(D) Police reforms

On whose authority, prisoners are
admitted to open air jail

(A) Police

(B) Judiciary

(C) Jail Authorities

(D) None of the above

Actions that are wrong in themselves
are called.

(A) Actus Reus

(B) Mens Rea

(C) Mala Prohibita

(D) Malainse

The aggregate of all operating,
administrative and technical support
agencies that perform criminal justice
functions is called.

(A) Social Justice System

(B) Civil Justice System

(C) Criminal Justice System

(D) Consensus approach

The due course of legal proceedings
according to the rules and forms that
have been established for the
protection of private right is

(A) Due process of law

(B) Crime control model

(C) Trial

(D) Bail

Human trafficking is a form of
(A) Hate crime

(B) Organised crime

(C) Violent crime

(D) Property crime

Latest Sarkari Jobs, Govt Exam Results
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Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

A human male who has XYY
chromosome structure is called

(A) Superman

(B) Superhuman

(C) Super female

(D) Super male

A developing intellectual approach
which emphasizes gender issues in the
subject matter of criminology is called
(A) Labelling criminology

(B) Post-modern criminology

(C) Radical criminology

(D) Feminist criminology

Who among the following is
connected to critical criminology ?
(A) R.E.Park

(B) E.H. Sutherland

(C) William J. Chambliss

(D) Cloward

In D.K. Basu case the Supreme Court
has laid down guidelines regarding
(A) Rape victims

(B) Child rights

(C) Women rights

(D) Arrest by police

Match the List — I with List — I ;

List—1 List — 11
(a) Justice A.N. (i) National Police
Mulla Commission
(b) Mr. Dharm (i) Committee on
Vira Criminal Justice
Reforms
(c) Justice (111) All India

Committee on
Prison Reforms
(d) Justice V.S. (iv) Committee on
Malimath Women
Prisoners

Krishna Iyer

Codes :

@ () () (d)
(A () (i) (i) (iv)
B) (iv) (i) (i) (i)
(©) (i) () (iv) (i)
D) @ @y (@>v) (i)
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12.

13.

14.

15.

Arrange the following in the order in

which they proceed for consideration of

probation. Use the codes given below :

L. Judgement

II. Trial

III. Release on probation

IV. Successful completion  of
probation on revocation of
probation.

Codes :

(A) HOLILIV,II

B) NLILLIV

(©) LILIV, I

(D) I LILIV

Under Juvenile Justice Act, the

observation home is mainly meant

for

I.  Thrown away children

II.  Children in conflict with law

III. Run-away children

IV. Children whose cases are
pending.

Find the correct combination using

the codes given below :

(A) T &II are correct.

(B) IIand IV are correct.

(C) HIand IV are correct.

(D) III and II are correct.

How many members are there in the
Child Welfare Committee, including
the Chairman ?

(A) 6 B) 5

© 4 (D) 3

Under Juvenile Justice Act, for

whom the special home is mainly

meant for ?

L. Children in conflict with law

II.  Thrown-away children

II. Run-away children

IV. Children whose cases are
decided

Find the correct combination using the

codes given below :

(A) Tand]lV are correct

(B) II and III are correct

(C) I and IV are correct

(D) I and IV are correct

Latest Sarkari Jobs, Govt Exam Results,
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20.

21.

22,

At the individual level, examples for
social disorganization are

(A) Drug Addiction

(B) Alcoholism

(C) Gambling

(D) All of above

Which  among the following
intoxicating drugs is not produced in
India ?

(A) Charas
(B) Cocaine
(C) Bhang

(D) Brown sugar

AloAno is an organisation meant for
(A) Alcoholics

(B) Drug addicts

(C) Family member of alcoholics
(D) Fellow drug users

Sub jails are mainly meant for

(A) Undertrial prisoners

(B) Convict prisoners

(C) Political detenues

(D) Children in conflict with law

Which Commission given below has
brought out a report on Capital
Punishment ?

(A) Police Commission

(B) Law Commission of India

(C) Human Rights Commission
(D) Central-State Commission

The Act which provides for
community service in India is

(A) Domestic Violence Act

(B) Juvenile Justice Act

(C) Probation of Offender Act

(D) Indian Penal Code

Social change means

(A) change in social structure

(B) change in social relations

(C) change in institutional frame-
work

(D) All of the above



12. TAfAfEd & 39 H9 | oeg, SEd

o aREET W fger &= % fou

HRAE H S & | A KT W B w5

TR ST

I SEHTE

. gAamwE

M. OReteT wm SigA

V. URERT Sl hetdrgdss X T
T GRET T WIqHEoT AT

&
(A) TILILIV,II

(B) ILILI IV

(C) LILIV,II

(D) I LI, IV

eI = ATTaY o 3T TuwoT e
@ SESavH gW) ged: [as fod
BT & 2

I R g

[I. M % 999 § 7 arel g
. ¥ ¥ 96 §Y o=

Iv. o s 51k amet foamei= & |
e {58 T Fei ¥ TEl WIS ;0T B
(A) TR TE |

(B) II3RIVEEE |

(C) MISARIVEE |

(D) IR TEE |

A HoIoT GiAfa |, 3rege] Tuq foha

I & § 9

(A) 6 (B) 5

©) 4 (D) 3

e =g efutam & ofdvd, WY
e (fomiT T8) 7= ¥4 ¥ {6 a=ai &
fea g e 2

I & Y § o aTet s

I 3T Tea/aRee s

[l =¥ 9 g a=d

IV. o 5= e gebs & e &
TE |

T f52 T et W WET WIS T AL

(A) 13RIVEEE |

(B) I 3RINTEE |

(C) MIARIVEEE |

(D) II3RIVEEE |

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click

20.

21.

22,

39 S qEAd: FAfefad & o g
(A) foem= et & foo

(B) Ty Hiedl & fow

(C) SHites dfgar o forg

(D) A % TOY H 3R T4l & oy

fefafed § 9 ®9 9 o 3 5 8
R R TR &1 & 2

(A) T TR

(B) YR faty s

(C) UM 3MUHR T

(D) 5 TST ST

g offufem += @ &, g wra o
TG TalT ST e & 2

(A) = e sttafaw

(B) TR =19 itafad

(C)  3ToRreft uf¥aire tfufam

(D) YR <€ Hiedn

AT TREdT 9 e &
(A) QIS e § aieeH
(B) QTSI Heel H qRea
(C) &I g § uRad
(D) S &




23.

24,

25.

26.

27.

28.

For studying habitual drug users, the
most useful sampling method would be
(A) Simple random sample

(B) Snowball sampling

(C) Cluster sampling

(D) Stratified random sample

The first jail training school in India
was established in

(A) Madhya Pradesh

(B) Uttar Pradesh

(C) Andhra Pradesh

(D) Kerala

Gottfredson and Hirschi’s theory
mainly focuses on

(A) Learning

(B) Self-concept

(C) Self-control

(D) Anomie

Which of the following is not an
integrative theory ?

(A) Labelling theory

(B) Network analysis

(C) Integrated cognitive Anti-social

Potential (ICAP) theory.
(D) Integrated strain control
perspective

Lie Detector or Polygraph is an aid to :
(A) Investigative process

(B) Correctional process

(C) Rehabilitative process

(D) None of the above

Match List — I with List — 11 :

List—1I List — II
(a) The principles (i) Vold
of criminology
(b) Theoretical (i1) Sue Titus
criminology Reid
(c) Crime & (ii1) Donald
Criminology Clemmer
(d) The prison (iv) Sutherland &
community Cressy
Codes :
(@ (b) (© (@
A @@ G (i) (iv)
B) (v) () (@) (i)

© Gv) (i) () ()
D) @ @) (@Gv) (i)

29.

30.

31.

32.

Restitution refers to

(A) Victim pays money to the
offender

(B) Offender pays money to the
victim of crime

(C) State pay money to the
offender

(D) None of the above

Assertion (A): Enrico Ferri rejected
the doctrine of free will, that is, it
is not the criminal who wish to act.

Reason (R) : Ferri believed that
the situation actually influences
the criminal’s actions. He
believed that crime was
produced primarily by the type
of society from which the
criminal comes.

(A) (A) is correct, but (R) is wrong.

(B) Both (A) and (R) are correct.

(C) (A)is wrong, but (R) is correct.

(D) Both (A) and (R) are wrong.

Phrenology is associated with

L Anomie

II.  Fransis Joseph Gall

III.  Study of heads and head casts

IV. Investigation of the bumps and
other irregularities of the skull.

Choose the correct combination

using the codes given below :

(A) L IL III & IV are correct.

(B) II, III & IV are correct.

(C) I & 1V are correct.

(D) 1V is correct.

Followings are included in Robert
Merton’s modes of adaptation :

L. Conformity

II.  Retreatism

III. Retribution

IV. Rebellion

Choose the correct combination,
using the codes :

(A) L II &IV are correct.

(B) L, II & III are correct.

(C) IL I & 1V are correct.

(D) 1&1V are correct.
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33.

34.

3S.

36.

37.

38.

In the year 2010 how many offences
under the special and local laws were
registered by the police ?

(A) 35-40 lakh

(B) 40— 45 lakh

(C) 45-50lakh

(D) more than 50 lakh

In statistical analysis that does chi-
square indicate ?

(A) Correlation

(B) Significance

(C) Association

(D) Difference

Who among the following is eligible

for the appointment of the chairman

of the National Human Rights

Commission in India ?

(A) Former Chief Justice of India

(B) Former Chief Justice of High
Courts

(C) Former Supreme Court Judge

(D) All the above

That aspect of law that specifies the
methods to be used in enforcing
substantive law is

(A) Case law

(B) Procedural law

(C) Personal law

(D) Economic law

Victim compensation scheme has
recently been made a part of the

(A) Indian Penal Code

(B) Code of criminal procedure

(C) Indian Evidence Act

(D) None of the above

The  partial representation  of
constructs like social status, power
and intelligence is called

(A) Measurement

(B) Operational Definition

(C) Variables

(D) Definition

39.

40.

41.

42.

43.

Which of the following statistical
technique can be used to find the
relationship between two
dichotomous variables ?

(A) Regression

(B) Standard Deviation

(C) Chi-square

(D) Mode

Which one of the following is not
correctly matched ?

(A) Ensilo Femi — Positive
school
(B) Drift theory —  Gresham
Syres
(C) Differential - E.H.
opportunity Sutherland
structure
(D) Power-control —  John Hagan
theory

Which one of the following is not
correctly matched ?

(A) Ecological — Ernest W.
theory Burgess
(B) Subculture —  William
theories A. Bonger
(C) Defensible —  Oscar
space Newman
(D) Routine —  Marcus
Activity theory Felson

A statistical index of the strength of
relationship between two variables is
called

(A) Percentage analysis

(B) Correlation coefficient

(C) t-test

(D) Regression

Lie detector/ polygraph ascertain the
changes in the following :

(A) Rate of heart beat

(B) Rate of Respiration

(C) Conductivity of skin

(D) All of above
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HeZeh! &1 AR Uiaraea f=tataa
T T T FEAT & 2
(A) w&T
(B) TETCHICHS, TRATT
(C) vod
(D) iR

39.

40.

41.

42.

43.

fr=fefaa & 9 9 9@ gitegsnt deie
1 3T < Tewhemey & dY gadr
I Tl T o oI fomam ST € 2
(A) Ufam=
(B) T fagem
(C) wHE-TERR
(D) wiEsd
fefafea § ¥ &9 @ 9@ demd 9
T E?
(A) Tfger wHr —  FvTETs
TR
(B) Ul fagid - W
pelpres)
(C) foows s - EUd gRels
HEEAT
(D) iRy Fi=oT —  SH ™
fagma
frafafed & 9 o9 @ T aeda |
T E 2
(A) uRfefent - IR T
fagia T
(B) 3Suuwpd fagim - faferm @
IRty
(C) T A — 3R e
(D) = Tifafaty —  TTHE Hord
fagia
T Yedl % W Geel i v o
T gush i Fed &

(A) wfceraar fogeryo
(B) WEHsY HEEeH
(C) d=wd
(D) T

o oo

efeAtEd § gieds

S GIH/aIAIT
T €

(A) 3T F FEHA H T
(B) ¥org i T

(C) o= ot ATt

(D) gt Tt

Latest Sarkari Jobs, Govt Exam Results,
Vacancies and updates on one click




44. Historically victims (or their 46. The essay argues which is a larger
families) were permitted to take science ?
measures to avenge crime. This is (A) Criminal law
called o
(B) Criminology
L Revenge
. (C©) Law
II. Retaliation DY C ”
III. Retribution (D) Community
IV. Rehabilitation o o b
Choose the correct combination 47. The origins of criminology can be
. ! ] traced to
using the codes given below : ‘ ‘
(A) LI Il & IV are correct. (A)  ancient times
(B) L II & III are correct. (B) 1500
(C) IL III & 1V are correct. (©) 1920%
(D) 1II & IV are correct. (D) 19307s
45. The idea that humans have mental 48. Who should familiarise themselves
conflicts because of desires and with principles of criminology ?
energies that are repressed into the (A) Criminals
unconsc%ous‘ is propounded by (B) Lawyers
(A) Er.1c Sllver. (C) Sociologists
(B)  Michael Milken (D) Criminologists
(C) Sigmund Freud
(D) B.F. Skinner 49. Why should others familiarize with
principles of criminology ?
The .study of crime, crlmlpqls and the (A) only means for importance of
criminal law is of ancwnt. origin, although criminal law
the development of criminology as a . }
descriptive took place in the 1900’s, with (B) intelligent means for
the first text books in the field published in improvement of criminal law
1920’s. For the community at large, it is (C) systematic means to improve
important to recognize that criminal criminal law
science is a large .thing' than griminal law. (D) all of the above
The legal profession, in particular, has a
duty to familiarise itself with the principles
of that science as the sole means for 50. The early teachers in criminology
intelligent and systematic improvement of were from
the cr‘im'inal law. Most of the earliy teachers (A) Political Science
of criminology and related subjects were .
educated in sociology, psychology political (B) Sociology
science or some other related discipline or (C) Practitioners from criminal
were practitioners in various fields of justice
criminal Justlce. (D) All of the above
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44, UfdEas T I difed (A1 39H IRART)
1 TZAT T HT AN S A oA | 5
FEd &

I wiqeng

I wfary

II. wfaeR

IV. Y&

= XU T et S ST e gy W
ST pl I <hISTT

(A) LILIIARIVEEE |

(B) LIIRIITEE |

(C) IL IRV T E |

(D) IIRIVETE |

45. I Tq T qHa § UE 37 S Sl &
FHRUT THE BT €, ST STEAdT § FW
H AR IFATCTT Bl &, THHN HehouT
fefafea g @ e <1 & 2
(A) 3IRF e
(B) HrEHet ek
(C) Towshs
(D) U feh R

3T, STV 3R TRy oy =t erezae
FH WA T fEar S € @l
STRTYRIE T T [a9F & &I H 6 1900
IATET § g € 31X 1920 % Ik T TR
TE! TSI TR e | 9 TS &
foTT 98 Hewagul & & & 3% 39 a1 & 9=
o fo sy fagm @ faaw ey fafy @
U T & | a9 T G B FeEE 5
Ig g BT ¢ 6 9 29 foe o fagid 9
AT TR 3TN HY FIh TR UHAT
IWE & oWy fafw W Flgmemger SR
AT GO | STORIERI 3T
TSI, TAIesH, JHiae o= a1 $5
3T Getd faoat & 9 | <Y ST o 9t STy
= & fafg=T &9 T ST FRR fohar S
o |

46.

47.

48.

49.

50.

30 Ty # ST SR T E e e
gl fomt & |

(A) Iy fary
(B) TR
(C) fafa
(D) W=

SRR 1 IFH e HHT ST Fehell
T2

(A) VTS

(B) 1900 T I

(C) 1920 T SIH

(D) 1930 T IMH

STRTERTE o [ogial @ g oo 2Taeh!
gRid T =il ?

(A) 3ToRTe

(B) ahret

(C) TETTSIET

(D) STl

STORTERA o 95Tl & 37 el aRfea

BT =TT 2

(A) Fae oY fafg § guR @ |
Teiferd AT

(B) Ty fafy o GuR o= & Hafd
rEHH AT

(C) Iy faty ¥ Yo & ¥ Fatad
e

(D) ST Tt

STORTERTA &t qRIoT f¥reTr fefeifad o
Y fergeh ST bt STt ot 2

(A) ST famm

(B) GHSias=

(C) 3ARY = & ATG
(D) 3o aelt
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